N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
£ : 8 £ £
€ I * g g g
Stk o'k = s
E - <O 20° g
3 i = F & 810
[ . I a
10°F 10°F 3
E E 10?
10°F 10°F
[ [ 10
10k 10E
1 bl Z
b Boaboidinitaedessk
H i e 0 T
k 1 I~ h- H
095=50-15-10 -5 0 5 10 15 20 25 095 Tiei0 -5 0 5 10 1530 25 e miETio s 0 5 10 15 2025 05 =50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
g g g
pct o0° ©
g £° 8
2
10° 310
10°
10?
10

10

Tt = et + T o
Bl G (] e (IS BES

o 20 -10 0 10 20 30 '9— 30 =30 -20 -10 O 10 20 30 =30 -20 -10 O 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)




	Contents
	Page 1


